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••  AAnnaallooggiieess  11  Level 2  

  

DDiirreeccttiioonnss:: Choose the word on the right 
that best expresses a relationship similar 
to that of the original pair. 
 

 
A rose is a kind of flower. 
A hammer is a kind of tool.  

Example: 

 
  

##))     ROSE :  FLOWER 

HAMMER: 

AA..  car 

BB..  tool 

CC..  computer 

DD..  instrument 

 

22))  EYES :  SEE 

FINGERS : 

AA..  hear  

BB..  touch 

CC..  smell 

DD..  taste 
 

33))  SUMMER :  HOT 

WINTER : 

AA..  angry 

BB..  tired 

CC..  delicious 

DD..  cold 
 

44))  BANANA : YELLOW 

CARROT : 

AA..  orange 

BB..  purple 

CC..  blue 

DD..  red 
 

55))  PORK : MEAT 

FRENCH : 

AA..  house 

BB..  chicken 

CC..  language 

DD..  food 

 
 

 

 
 

 

 
 

 
 

66))  NURSE :  HOSPITAL 

WAITER : 

AA..  hotel 

BB..  bank 

CC..  mall 

DD..  restaurant 
 

77))  PENCIL : WRITE 

KNIFE : 

AA..  bake 

BB..  cut 

CC..  move 

DD..  clean 
 

88))  GOOD : WONDERFUL 

TASTY : 

AA..  delicious 

BB..  bad 

CC..  sunny 

DD..  nice 
 

99))  HUNGRY : EAT 

TIRED : 

AA..  sleep 

BB..  play 

CC..  run 

DD..  jump 
 

1100))   BED :  BEDROOM 

TOILET : 

AA..  truck 

BB..  kitchen 

CC..  television 

DD..  bathroom 

11))  UP :  DOWN 

LEFT : 

AA..  right 

BB..  over 

CC..  close 

DD..  before 
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Answers and Explanations 

 
1) A 
Up is the opposite of down. Left is the opposite of right. Therefore (A) is correct. 

  
2) A 
Eyes are used to see. Fingers are used to touch. Therefore (A) is correct. 

  
3) D 
A characteristic of summer is to be hot. A characteristic of winter is to be cold. Therefore (D) is correct. 

 
4) A 
A characteristic of a banana is to be yellow. A characteristic of a carrot is to be orange. Therefore (A) is correct. 

 
5) C 

Pork is a type of meat. French is a type of language. Therefore (C) is correct. 

  

6) D 

A nurse works at a hospital. A waiter works at a restaurant. Therefore (D) is correct. 

 
7) B 

A pencil is used to write. A knife is used to cut. Therefore (B) is correct. 

  
8) A 

Something that is very good is wonderful. Something that is very tasty is delicious. Therefore (A) is correct. 

 
9) A 

Someone who is hungry needs to eat. Someone who is tired needs to sleep. Therefore (A) is correct. 

  
10) D 
A bed can be found in a bedroom. A toilet can be found in a bathroom. Therefore (D) is correct. 


